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(1:2) = 0.79 m2 0.79 m2
¢ 200 (0.90/2) "2X £+(0.20X 7 X0.90X 1/2) — (0. 90 X 0. 20)
= 0.74 m2 0.74 m2
¢ 150 (0.90/2) "2X 7+(0. 15 X 7 X0.90 X 1/2) — (0. 90 X 0. 15)

= 0.71 m2

0.71

m2




— —

NEIE#EHEE By
it g TEE BEE BER EER e We mu: AoF
mm mm m m & 1& & & RESREEST
11 1-3-1 15 150 100 0.84 0.52 1 2 (150 x 100)
of 25151 1= 150 100 1.17 | 0.83 1 1 2 e
3 (.L—“~_____l l 2| __
4
5 BENYF
6 JL—VI U FEE
7 (VUG 100)
8
9 W BB AT s
0
1 (WL XU
i 2.01 1.35 2 0 2 4
ERRT A TL—YIVFREE (0100) K%
BIE#MF| HE BE 1.35m / 4.00m = 1 &
mm mm mm
165 178 50 BERTT
1. OmK i 1
EEERE 1.0~1.5m 1
BES+AER/2-RIEHF-HE-FE 1.5~2. 0m 0
2.0~2.5m 0




INOEE= A VEEERE (ZD1)

[5Fn 6 ARE] AR 150 [5H 1 TIX]
o8 — ko (150 - 300 ) I 2= (300) Fl
,/g@
s N2 A A\ 3% 2 B I
it < v, E v ¥ A& O O E > Sheka & i .
v | 2153 | 45|60 |75 |9 |H ]|~ ]|~k L o ¥ H| L= i
T * bl | e | | e | o | v N | % |y
I L O T O I O 7 I P I o T iIHf (O A O I Y O
ES v Ffovlofvw]lv]v|lvy 7 3{ s {alos| s |walos|m| 7] " =
S Js) bk Bt T 0 W
o KT | ST Y | MH | MHD =
(m) 2 T 0 I m 5 T - I 505
] 2 omplF
| 3 5mplF
B o omtF |1 1 2.52 | 1 2 2 | 2
B 3 smF
& @ 1 1 2.52 | 1 2 2 | 2




BERNAE~ A= (W 6 300m) APREHEE

BhER R
% A A x B’ # E (150mm) 4 v X — + (E#hE 0.25m) 90° )23 =] B S *
nE fEl= Abb=b gAY | gaAty | gAY | gaASY | @AY | Bty = 7
#® Ll E 15 T-8 T-14 T-25 15° 30° 45° 60° 75° 90° BER ] 2 ir =3 Eea =® x
SETBIEAR A "
& & 3 % & E ¢ 300mm Fiid b3 % v
H
5 5 & F & $100- ¢ 150 7
(m) (mm) (fE) ({E) ({E) ({E) (1) (1) (1) (1) (1) (E) (E) (E) (E) (E) (&) (m) (E) (E) (E) (&)
1-2 1-2-1 1.56 150 1 1 1 1. 16
1-2 1-2-3 1.76 150 1 1 1 1.36 1
it 1. 66 2 2 2 1 1 2.52
MO = H—R#% (0. 15) — A= MaR@ES (0. 25)

MEE =

H—{Ri##% (0.

15)



G oK B Kk Y B B T

i K

[TFn 6 4FFF] [EH 1 TX]
T
IH H # % i B B fh & &t s =
L VU ¢ 150 VU ¢ 150 VU ¢ 100 VU ¢ 100 VU ¢ 150
bl Hi m3 m3 m3 m3 m3
H R i m3 m3 m3 m3 m3
Ny IR HOR 4+ m3 m3 m3 m3 m3
0. 35m3ifk MR E i T m3 m3 m3 m3 m3
vy IR N m3 m3 m3 m3 m3
+ b Hl 49.88| m3 m3 55.26| m3 55.26| m3 49.88| m3
M = b 14.97] m3 m3 19.79] m3 19.79] m3 14.97] m3
VAR B - 17.63] m3 m3 20.67| m3 20.67| m3 17.63] m3
0. 20m37fk MR E T m3 m3 m3 m3 m3
Aoy 'R 30.29] m3 m3 32.29] m3 32.29] m3 30.29] m3
bl Hi m3 m3 m3 m3 m3
H R i m3 m3 m3 m3 m3
T | Ny IAY HOR A&+ m3 m3 m3 m3 m3
0. 10m37fk MR E i T m3 m3 m3 m3 m3
Aoy IR m3 m3 m3 m3 m3
bl Hi m3 m3 m3 m3 m3
H R i m3 m3 m3 m3 m3
S 71 HOR A&+ m3 m3 m3 m3 m3
MR E i T m3 m3 m3 m3 m3
ol IR G m3 m3 m3 m3 m3




5 K BE KON B B A OBE 4B

5 3K

[SFfn 6  HRF] [0 1 TIX]
T
17 H B 7 i B B = i =
i BT VU ¢ 150 | BT VU ¢ 150 | BUHE VU ¢ 100 | BUfHE VU ¢ 100 | B4 VU ¢ 150
R VU 6200
?E 7| T % Pt 10| {5 PT 10| {5 PT 7| T
Vi
ot e VU 6200
Eﬁ} 3| i PT % Pt 6| P 6| P 3| FEPT
" — & A (T— 2 5| @ e 3| 1A 3| 1A 5 {4
A1 (T8 5| fH { 13| {A 13| {A 5| fH
B SE R 52.80| m m 69.39| m 69.39| m 52.80| m
WY 122.19| =+ 26.00] = 4.70] m
B
£t
E Huft & 3. 0m Kl £ AT £ AT 4| B FT % Pt % P
4 Bt £3. om Ll |
T 5. 0m At 6| T 1 AT 4| &P 5 AT 6| EHT
AT ES. 0mLPL
12. 0m AT 4| t& T 1 AT 8| f& Pl % Pt 4| P




HooKk B R oY B B T OH OB O£ B T 9 T g 010 m ( 065 )m
BB As (A D) B LK SiAEE 4. ombd -
~ + FS i [ =
(4 3 v 5 i )i W« SR - 35 R & F i
S % (3 PN il £ ¥ ¥ =3 HfH AR IE R = 37.90 m
& % | it g (4 B - A i ¥ e +
N o U 7% $iE + il T A PR = 14.60 9 = 1.62 1.62 m /f&7T
5 L | R & s A7 | FNEMH 3 7 jia
(mm) Rl | R (m) (m) [ONEGREA I 2l Y (m) P
78-1-1 | 2.13 R B E R = 37.90 9 = 4.21 4.21 m /i
78-1 200 | 78-1-2 | 2.25 1.10 3.00 4. 00 Q IEREE 19 1.65 4. 00
78-1-1 | 2.13 R SERIREIAE R = 4.21 - 0.95 2 = 3.7 3.74 m /&t
78-1 200 78-1-2 | 2.25 1. 10 3. 00 4. 00 R IEHEE 19 1.65 4. 00 Bl
78-1-1| 2.13 R
78-1 200 78-1-2 | 2.25 1. 20 3. 00 4.00 S E 19 1.70 4.00 hi= 0. 65 0. 65 m
78-1-2 | 2.27 R
78-1 200 | 78-2-1| 2.23 1.10 3.00 4. 00 T T .25 1.68 4. 00 1 h2= 1.62 — 0.65 — 0.565= 0. 405 m
78-1-2 | 2.27 i Q
78-1 200 | 78-2-1| 2.23 1.10 3.00 4. 00 U T .25 1.68 4. 00 j_ h3= 0.405 + 0.565 + 0.65 - 0.10= 1.520 m
78-1-2 | 2.27 R %
78-1 200 | 78-2-1| 2.23 1.10 3.00 4.00 v R ES .25 1. 68 4. 00 g Bl= 0.55 + 2 X 1.62/10 = 0. 87 m
78-1-1 | 2.13 e =
78-1 200 | 78-1-2 | 2.25 0. 80 4. 50 4.50 X R ES 19 1. 50 4. 50 B2= 0.55+2% (0. 565+0. 405) /10= 0.74 m
78-1-2 | 2.27 e
78-1 200 | 78-2-1| 2.23 0. 80 4.70 4.70 Y R ES .25 1.53 4.70 B3= 0.55+2% (1.62 - 0.10)/10 = 0.85 m
78-1-2 | 2.27 e
78-1 200 | 78-2-1| 2.23 0. 80 4.70 4.70 7 R ES .25 1.53 4.70 B4= 0.55 + 2 X0.565 /10 0. 66 m
+ T
it Ml = (0.55 + 0.85) /2 X 1.52 X 3.74 X 9 = 35.81 m3
DR UG
o FERE = {(0.55 + 0.66)/2 X0.565 — (0.165 2 X x/4)}
X 3.74 X 9 = 10.79 m3
FAETHRL
C = (0.74+0.66)/2X0.41X3.74X9 = 9.66 m3 (F4LT+)
7% 1 = 35.81-9.66/0.9 = 25.08 m3
SR AKERE=1. 01m
a @b 9.10 | 31.90 | 37.90 | 14.60 | 37.90
A b KLt HRL (m3) %+
2 A 7 RIEE (m3) (m3) A+ (m3)
| 5 Ak aik 35. 81 10. 79 9. 66 25. 08
i B | REA B 35. 81 10. 79 9.66 25. 08
ETE 62000 6 FEET | 3 T 6 fEfT | 3 T ExA4 7R K3 G
9 ¢ 300 U | 4 A 4 {fl
Bz | 5 M 5
IRAH A B
BUHEER ¢ 100 ¢ 150 ¢ 150
A R 3. 0m Al
B3, 0m L L5, 0m i 6 & 6 T
Hef 5. OmBL k12, 0m Al 3 AT 3 &

1T HIT BT D B TR




oK B RO % T OB B % Bt 1t wEm. 0mom (o
BAREAs (E5A D) B TIX R B4, OmA
+ ES Jivd
(4 3 i Jivd W« SR - 35 R & F i
S (3 il fF ¥ ¥ =3 HfH AR IE R = 14.90 m
& % g B B - A i ¥ b +
N U $iE + il T WA R = / 4 1.56 1.56 m /f& 7T
5 (S & s A7 | FNEMH 3 7 jia
(im) I el (m) () |95 - 4| ZEFERI v (m) £
1.90 el B E R = / 4 = 3.73 m, /@it
1-3 200 2. 64 4.90 5. 90 D IEHEE 2.27 1. 69 5. 90
2.13 SR HIE R = - 0.95 2 3.26 3.26 m /T
78-1 200 2.25 2.00 3.00 X 2.19 1. 50 3.00 Bl
2.27
78-1 200 2.23 2.00 3.00 Y 2.25 1.53 3.00 hi= 0.18 0.18
2.27
78-1 200 2.23 2.00 3.00 7 2.25 1.53 3. 00 1 h2= 1.56 — 0.18 — 0.565= 0.815
&
7 h3= 0.815 + 0.565 + 0.18 - 0.03= 1.530
f}]
g Bl= 0.55 + 2 X 1.56,10 0. 86
[t
= B2= 0.55+2% (0. 565+0.815) /10= 0.83
B3= 0.55+2x% (1.56 - 0.03)/10 0. 86
B4= 0.55 + 2 X0.565 /10 0. 66
+ T
it Hl = (0.55 + 0.86) /2 X 1.53 X 3.26 X 4
DR UG
o FERE = {(0.55 + 0.66)/2 X0.565 — (0.165 2 X x/4)}
X 3.26 X 4 =
R R L
C = (0.83+0.66)/2X0.82X3.26X4 7.97 m3 (AT
7% 1 = 14.07-7.97/0.9
SR K ERE=0. 88m
& @t 10.90 | 14.90 | 6.25 | 14.90
b KLt HREL (m3) %+
& A 7RI (m3) (m3) A+ (m3)
&t oY 14. 07 4.18 7.97 5.21
B pieinl ]
il f 14. 07 4.18 7.97 5.21
ETE 6200 1 [HFT 1 ExA4 7R K3 A
£94% ¢ 300 eSS | 1 1 fE
Bt
IRAH A B
B EER ¢ 150 ¢ 150
A R 3. 0m Al
IRAHE 3. 0mEA 15, 0om A
B 55, 0m Bl E12. 0m Al 1 f&fT 1 f&pT

1T HIT BT D B TR




T O 7 S O N G S R D o= R B T i B 0.10 m 0.65
VR TEAs (A - 8938) HU T X AR E4. omEl B
~ + FN H =
(4 3 v 5 i )i W« SR - 35 R & i
S et % PN il £ ¥ (3 BT EATRIE R = 16.79 m
F % | it g B B - A i ¥ +
S % U 7% ji3 + T 6.18 4 = 1.5 1.55 m /7T
5 L | R & W& A7 | FSEMIT 3 jia
(mm) Rl | R (m) (m) [ONRE GRS i U P
77-1 .89 R 16. 79 4 = 4.20 4.20 m /f&pT
77 150 77-2 2.03 1. 10 3. 00 4.00 N E 1.96 4. 00
77-2 2.05 HERL 0. 90 2 = 375 3.75 m /&t
77 150 78-1-1 | 2.13 1. 10 3. 00 4.00 0 E 2.09 4. 00
77-2 2.05 R
77 150 78-1-1 | 2.13 1. 10 3. 00 4.00 P E 2.09 4.00 hi= 0. 65 0. 65
77-2 2.05 e
77 150 | 78-1-1| 2.13 0. 80 4.79 4.79 W E 2.09 4.79 h2= 1.55 — 0.65 — 0.514= 0.335
h3= 0.335 + 0.514 + 0.65 - 0.10= 1. 450
g Bl= 0.55 + 2 X 1.55/10 = 0. 86
[t
S
B2= 0.55+2% (0.514+0.335) /10= 0.73
B3= 0.55+2% (1.55 - 0.10)/10 = 0. 84
B4= 0.55 + 2 X0.514 /10 0. 66
il = (0.55 + 0.84) 2 X 1.45 X 3.75 X 4 =
{(0.55 + 0.66) /2 X0.514 - (0.114 "2 X x /4)}
X 3.75 X 4
(0. 73+0. 66) /2X 0. 34X 3, 75X 4 3.54 m3 (4Lt
15.12-3.54/0.9
SR AKIERE=1. 03m
& @t 4.10 | 13.79 | 16.79 | 16.79
Ei: L T SEHE HREL (m3) %+
& A 7RI (m3) (m3) A+ (m3)
N &t &t 15. 12 4. 81 3.54 11.19
I gl =] fa
BRR | R B | e 15. 12 1.81 3. 51 11. 19
EFe200 3 AT | 1 T 3 i | 1 fEPT XA TR a3
9% ¢ 300 U
Bt 4 {#
IRAH A B
BUHEER ¢ 100 ¢ 150 ¢ 150
A R 3. 0m Al
TR 3. 0m B 5. OmAil 3 & 3 fEiT
M 5. 0m B 12, om Al 1 &7 1 &
1T I BT 2 B E FHTER




LI Y S G O NI : ' G s = = - -3 BB T 8 it I - 0.03 m
BAREAs (E5A D) HU T X AR B4, OmAil
~ + FN H =
(4 (=4 v &5 i W« SR - 35 R & F i
S % % Ji| £ ¥ ¥ =3 BT EATRIE R = 27.60 m
& % | g (4 B - A i ¥ e +
N o U ji3 + il T WA R = 10.17 7 = 145
5 L | R & W& A7 | FSEMIT 3 7 jia
(mm) Rl | R (m) (m) [ONRE GRS i Y (m) P
1-1-1 1.90 HERL B E R = 27.60 7 = 3.94
1-1 150 1-3-1 2. 64 1. 4.90 5. 90 A E £ .27 1.74 5. 90
1-1-1 1.90 HERL SEXIREIAE R = 3.94 — 0.90 2 = 3.49
1-1 150 1-3-1 2. 64 1. 4.90 5. 90 B IEHEE .27 1. 69 5. 90 Bl
1-1-1 1.90 el
1-1 150 1-3-1 2. 64 1. 4.90 5. 90 c IEHEE .27 1. 69 5. 90 hl= 0.18
1-4-1 1. 10 jiel]
1-4 150 2-1-1 2.08 0. 1. 30 2.30 K E £ .59 1. 20 2.30 1 h2= 1.45 — 0.18 — 0.514=
1-4-1 | 1.10 R Q
1-4 150 2-1-1 2.08 0. 1. 30 2.30 L S .59 1.20 2.30 j_ h3= 0.705 + 0.514 + 0.18 - 0.03=
1-4-1 1. 10 el %
1-4 150 2-1-1 2.08 0. 1. 30 2. 30 M I .59 1. 20 2.30 g Bl= 0.55 + 2 X 1.45/10 =
77-2 2.05 =
77 150 | 78-1-1| 2.13 0. 2.00 3.00 W .09 1.45 3.00 B2= 0.55+2% (0.514+0.705) /10=
B3= 0.55+2% (1.45 - 0.03) /10 =
B4= 0.55 + 2 X0.514 /10
+ T
it Ml = (0.55 +0.83) /2 X 1.42 X 3.49 X 7 =
DR UG
o FERE = {(0.55 + 0.66)/2 X0.514 - (0.114 "2 X x/4)}
X 3.49 X T =
R R L
C = (0.80+0.66)/2X0.71X3,49X7 12.66 m3 (F&4+)
7% 1 = 23.94-12.66/0.9
SR K ERE=0. 94m
a @b 6.60 | 20.60 | 27.60 | 10.17 | 27.60
Ei: L T SEHE HREL (m3) %+
& A 7RI (m3) (m3) A+ (m3)
| 5 Ak aik 23. 94 7.83 12. 66 9.87
i B | REA B 23.94 7.83 12. 66 9,87
ETE o200 4 FEET | 2 T 4 tEPT | 2 T ExA4 7R K3 G
9 ¢ 300 e | 3 A 3 {Fl
IRAH A B
BUHEER ¢ 100 ¢ 150 ¢ 150
A R 3. 0m Al 3 it 3 T
IRAHE 3. 0mEA 15, 0om A
Hef 5. OmBL k12, 0m Al 3 AT 3 &

1T HIT BT D B TR




HooKk B R oY B B T OH OB O£ B T 6 T g 0,06 m ( 030 )m
iiEAs (A - 80) HU T X AR E4. omEl B
~ + ZN Jiid
(4 (=4 v &5 i W« SR - 35 R & F i
S % (3 il £ R ¥ (3 BT EATRIE R = 25.00 m
& % | g (4 B - A i ¥ e +
N o U ji3 + il T WA R = 6.90 6 .15 1.16  m /f&7T
5 L | R & s A7 | FNEMH 3 7 jia
(mm) Faef | Rt (m) (m) [ONRE GRS i Y (m) P
1-2-1 1. 40 HERL B E R = 25.00 6 = 4.17 m /T
1-2 150 1-2-2 1.45 0. 1. 00 2.00 E E £ 1.43 1. 12 2. 00
1-2-1 1. 40 el SEXIREIAE R = 4.17 — 0.90 2 3.72 3.72 m,/ @it
1-2 150 1-2-2 1.45 0. 4. 00 5. 00 F E £ 1.43 1. 12 5. 00 Bl
1-2-1 1. 40 el
1-2 150 1-2-2 1.45 0. 4. 00 5. 00 G E L 1.43 112 5. 00 hi= 0.30 0. 30
1-2-2 1.49 e
1-2 150 1-2-3 1. 60 0. 2.00 3.00 il S 1.55 1.18 3.00 1 h2= 1.156 — 0.30 — 0.514= 0. 285
1-2-2 | 1.49 R Q
1-2 150 1-2-3 1. 60 0. 4.00 5. 00 I S 1.55 1.18 5. 00 j_ h3= 0.285 + 0.514 + 0.30 - 0.05= 1. 100
1-2-2 1.49 e %
1-2 150 1-2-3 1. 60 0. 4.00 5. 00 J R ES 1.55 1.18 5. 00 g Bl= 0.55 + 2 X 1.15/10 = 0.78
=
B2= 0.55+2x% (0.514+0.285) /10= 0.72
B3= 0.55+2% (1.15 - 0.05) /10 = 0.77
B4= 0.55 + 2 X0.514 /10 0. 66
+ T
i Ml = (0.55 + 0.77) /2 X 1.10 X 3.72 X 6 16.20 m3
DR UG
o FERE = {(0.55 + 0.66)/2 X0.514 - (0.114 "2 X x/4)}
X 3.72 X 6 = 7.15 m3
R R L
C = (0.72+0.66)/2X0.29X3.72X6 4.47 m3 (4Lt
7% b = 16.20-4.47/0.9 = 11.23 m3
SR K ERE=0. 80m
a @b 4.80 19.00 | 25.00 | 6.90 | 25.00
Ei: L T SEHE HREL (m3) %+
& A 7RI (m3) (m3) A+ (m3)
| 5 Ak aik 16. 20 7.15 4,47 11.23
i B | REA B 16. 20 7.15 4,47 11.23
ETE o200 3 FEET | 3 T 3 fEAT | 3 T ExA4 7R K3 G
£ T4 0300 i
Bz | 6 i 6
IRAH A B
BUHEER ¢ 100 ¢ 150 ¢ 150
A R 3. 0m Al 1 f&T 1 &7
T 3. 0mBA_E5. 0m Al 1 f&aT 1 &y
Hef 5. OmBL k12, 0m Al 4 fET 4 &7

1T HIT BT D B TR




TR T ENE

[5m 1 TIX]
S < I I _ L _ __® I PN, 1 %
N WA N N WA N
t =3 cm 19.4 7.8 27.2 65.3 3.4 68. 7 95.9 |m °| [JARE M55 1A
t =3 cm 49. 2 45. 1 94.3 192.9 9.9 202. 7 297.0 |m?|[RA5E1A 18 IH
% B T As t =4 cm 55. 4 12.7 68. 2 68.2 |m?|[fi I 1 IH
K 1E H t=4cn 217.5 24.0 241.5 158.9 10. 1 168.9 410.5 |m?|[[R SEMEIREIR
iz 18 15 t =5cm 217.5 24.0 241.5 158.9 10. 1 168.9 410.5 |m?|[J] &% 18 IH
UL t = 10 cm m”
Co t =15 cm m 2
t = 20 cm m2
t =b5cm m 2
t =10cm m 2
HE t =15cm m?
o T t =26cm 55. 4 12.7 68. 2 68. 2 mz[ﬁ ]
t =60cm 217.5 24. 0 241.5 158.9 10. 1 168.9 410.5 [m*|[I  3&]
t =b5cm m 2
HiE t =10cm 19. 4 7.8 27.2 65. 3 3.4 68.7 95.9 |m*|[JEARE]
t =15cm m 2
7 4 VE—)E HiE t =5cm 19. 4 7.8 27.2 65.3 3.4 68. 7 95.9 |m *|[JEAE]
R IE T t =3cm 67. 1 67. 1 134. 1 134. 1 201.1 |m?
R~ /és E;g 482.2 73.3 555. 5 621.2 91.5 712.7 1268.2 | m
Lk " o t= m
§% nﬁmw/i@%ﬁi 4&(@]% As t=20 m
4L — Co t=20 m
i As t = 10cm 266. 7 69. 1 335. 8 407. 1 32.7 439.8 775.6 |m®
ES S B RE R As t = 10cm 236.9 31.8 268. 7 224. 1 13.5 237.6 506.3 |m” [[6 3] (W8 ] R AR 4 IR
T " As t = l5cm m >
E77E I < | 5
Co t = 10cm m
Co t = 15cm m®
As t = 10cm 23.3 3.8 27.1 23.9 1.8 25.7 52.8 |[m®
As t = 10cm 9.3 1.2 10.5 8.4 0.5 8.9 19.4 |m® [[R 58] [RA5E R IRE IH
FERT ALEL T As t = 15cm m’
Co t = 10cm m®
Co t = 15cm m’
As 1. 07 0.15 1.21 1. 12 0.11 1. 23 2.44 |m’
P /K ALEE T As m3
Co m3
X e {4 ME15em 12. 00 12. 00 8.00 8.00 20.00 | m
o e ¥ F15em 3.00 3.0 1. 00 1.0 4.0 | m
[—l = =
W ffﬁ M TIJ%ZOcm m
2 e A iE30cm m
& e {4 ME45cm 12. 00 12.0 11. 00 11.0 23.0 | m
T X s 15emfff 19. 80 19.8 19.8 | m




B R RRELAKOCMERHBHER

WE (7 A7 7V b t=10cm (K IHt=5cm, AR IH t=4cm)) FJE  &hi2EiEE4. om L E M TX (EH As )
fid i A B R OV S 1 1R i O
ALY A 5y AR e 5y
i NILFE S RERG | BUERO BTG | BUER G i i 1 5
e TR 0 S AR LI IR TR R I i S AT A LI I T fid= 5l B T 5 Il (B A=)
7!
T & T i T & T i
(mm) (m) (m) (m) (nf) (m) (nf) (mm) (m) (m) (m) (nf) (m) (nf) (m) (m) (m) (m)
No. 1-3-1
1-3 No. 2-2-1 200 40. 00 1.05 42. 00 1.05 42. 00 40.00| 2 80. 00
No. 2-2-1
2-2 No. 3-1 200 9.00 1.05 9.45 1.05 9.45 9.00] 2 18. 00
No. 2-1-1
2-1 No. 2-2-1 200 11. 10 1.05 11. 66 1.05 11. 66 1.10] 2 22. 20
No. 78-1-1
78-1 No. 78-1-2 200 71. 50 0.95 67.93 0.95 67.93 150 11. 60 0.87 10. 09 0.87 10.09 71.50| 2 143. 00 11.60| 2 23.20]13.50 - (0.95/2X4)
No. 78-1-2
78-1 No. 78-2-1 200 73. 50 0.95 69. 83 0.95 69. 83 150 16. 03 0.87 13.95 0.87 13.95 73.50| 2 147. 00 16.03] 2 32.06]18.40 - (0.95/2X5)
No. 228-2-
228-2 No. 78-1-1 200 9.00 0.95 8. 55 0.95 8.55 9.00] 2 18. 00
No. 229-2-
229-2 No. 78-1-2 200 8. 50 0.95 8. 08 0.95 8. 08 8.50] 2 17. 00
i 222. 60 217. 50 217. 50 27. 63 24. 04 24.04]  222.60 445. 20 27. 63 55. 26
iU T = 445.20 + 55. 26 = 500.46 m
FFEUE - WIAT = 217.50 + 24. 04 = 241.54 nf
AR T.=  217.50 + 24. 04 = 241.54 nf
RpEHEET = 241.54 - 241. 54 = nf




B R RRELAKOCMERHBHER

WHBRE (T A7 7V b t=3cm (A1 [Ht=3cm, {R{RMEIHt=3cm))) KJE i T ((B# As )
i SRRSO K VB 18 (B 4 EiE el
ALY A 5y AR e 5y
o NALFE BgRO | Bk BE#EEG | BEERG S S 1 i
e TR FLEUT f2 A LI I R I T p2 AT A LI I T fid= 5l B T 5l g (BT R)
7!
[Lag & [ [ & T A5
(mm) (m) (m) (m) (nf) (m) (nf) (mm) (m) (m) (m) (nf) (m) (nf) (m) (m) (m) (m)
No. 1-3-1
1-3 No. 2-2-1 200 150 4.43 0. 86 4.14 3.81 5. 00 22. 15 4.43] 2 8.86]4.90 - (0.95/2x1)
No. 211-2-1
211-2 No. 2-1-1 200 18. 50 1.05 1.61 19.43 2.66 49. 21 18.50| 2 37.00
No. 78-1-1
78-1 No. 78-1-2 200 150 1.53 0.86 4.14 1.32 5. 00 7.65 1.53] 2 3.06]2.00 - (0.95/2x1)
No. 78-1-2
78-1 No. 78-2-1 200 150 3.05 0.86 4.14 2.62 5. 00 15. 25 3.05| 2 6.10]4.00 - (0.95/2x2)
&t 18. 50 19.43 49. 21 9.01 7.75 45. 05 18. 50 37.00 9.01 18. 02
LW T = 37.00 + 18. 02 = 55.02 m
KFWIE - HIET= 49. 21 + 45. 05 = 94.26 nf
BT = 19.43 + 7.75 = 27.18 nof
R IE T = 94. 26 - 27.18 = 67.08 nf




B R RRELAKOCMERHBHER

WLE (T A7 7 v b t=10em (5 IH t=5cm, (AR IHt=4cm)) KiE  EHZEEE4. 0om Pl |- T X (U3 As )
i SRRSO K VB 18 (B 4 EiE el
ALY A 5y AR e 5y
o NALFE BgRO | Bk BE#EEG | BEERG S S 1 i
B TR FLEUT f2 A HIHIE IS B TR H i p2 A HIHIE RS TR 51 I TR 51 G (B A5 4B )
7!
[Lag & [ [ & T A5
(mm) (m) (m) (m) (nf) (m) (nf) (mm) (m) (m) (m) (nf) (m) (nf) (m) (m) (m) (m)
No. 1-1-1
-1 No. 1-3-1 150 50. 00 0.90 45. 00 0.90 45. 00 50.00| 2 100. 00
No. 77-1
77 No. 77-2 150 64. 00 0.90 57. 60 0.90 57. 60 100 2.55 0.84 2. 14 0.84 2. 14 64.00 2 128. 00 2.55| 2 5.10]3.00 - (0.9/2%1)
No. 77-2
77 No. 78-1-1 150 53. 00 0.90 47.70 0.90 47.70 100 9.44 0.84 7.93 0.84 7.93 53.00| 2 106. 00 9.44| 2 18.8810.79 - (0.9/2x3)
No. 227-2-
227-2 No. 77-2 150 9. 50 0.90 8. 55 0.90 8.55 9.50| 2 19. 00
&t 176. 50 158. 85 158. 85 11. 99 10. 07 10.07]  176.50 353. 00 11. 99 23.98
HiEEUIWr = 353.00 + 23.98 = 376.98 m
FIFEUE - WINT = 158.85 + 10. 07 = 168.92 nf
BT = 158. 85 + 10. 07 = 168.92 i
R IE T = 168. 92 - 168. 92 = nf




B R RRELAKOCMERHBHER

WHBRE (T A7 7V b t=3cm (A1 [Ht=3cm, {R{RMEIHt=3cm))) KJE BT (il As )
# B R I N OV IE 4y i O
Ay Bk 5y Ay B 55y
o NALFE BgRO | Bk BE#EEG | BEERG S S 1 i
EE JEFR R HIE O TR BIHME I R (ge JE R HIE O AR HIHME I R JE 5] ][ JE 5] ][ (B e =)
77
T & T T [ T
(mm) (m) (m) (m) () (m) () (mm) (m) (m) (m) () (m) () (m) (m) (m) (m)
No. 1-1-1
1-1 No. 1-3-1 150 100 13.35 0.84 4.16 5.00 13.35 2 26.70]14.70 - (0.9/2X3)
No. 1-4-1
1-4 No. 2-1-1 150 72.50 0.90 1.76 65. 25 2. 66 192. 85 100 2.55 0.84 2.14 0.84 2.14 72.50 2 145. 00 2.55 2 5.10]3.90 - (0.9/2X3)
No. T77-2
77 No. 78-1-1 150 100 1.55 0.84 4.16 1.30 5.00 7.75 1.55 2 3.10]2.00 - (0.9/2X1)

i 72. 50 65. 25 192. 85 17. 45 3. 44 9.89 72. 50 145. 00 17. 45 34. 90
EEEIW T = 145. 00 + 34.90 = 179.90 m
FFEUE - WINT = 192.85 + 9.89 = 202.74 ni
eAE T = 65. 25 + 3.44 = 68.69 nf
REpEHEET = 202.74 - 68. 69 = 134.05 nf



B R RRELAKOCMERHBHER

T (7 A7 7 v b t=bem (R A t=4cm) ) £JE iR E4. om k BT X (iiE As )
i SRRSO K VB 18 (B 4 EiE el
ALY A 5y AR e 5y
o NALFE BgRO | Bk BE#EEG | BEERG S S 1 i
B TR FLEUT f2 A HIHIE IS B I T p2 A HIHIE RS TR 51 B T 5l g (BT R)
7!
[Lag & [ [ & T A5
(mm) (m) (m) (m) (nf) (m) (nf) (mm) (m) (m) (m) (nf) (m) (nf) (m) (m) (m) (m)
No. 1-2-1
1-2 No. 1-2-2 150 16. 00 0.90 14. 40 0.90 14. 40 100 7.65 0.78 5.97 0.78 5.97 16.00| 2 32.00 7.65| 2 15.30]9.00 - (0.9/2%3)
No. 1-2-2
1-2 No. 1-2-3 150 30. 50 0.90 21. 45 0.90 27.45 100 8. 65 0.78 6.75 0.78 6.75 30.50| 2 61.00 8.65| 2 17.30]10.00 = (0.9/2X3)
No. 1-2-3
1-2 No. 1-3-1 150 15. 10 0.90 13. 59 0.90 13. 59 15.10] 2 30. 20
&t 61.60 55. 44 55. 44 16. 30 12.72 12.72 61. 60 123. 20 16. 30 32. 60
LW T = 123. 20 + 32. 60 = 155.80 m
KFWIE - HIET= 55. 44 + 12.72 = 68.16 i
BT = 55. 44 + 12.72 = 68.16 nf
R IE T = 68. 16 - 68. 16 = nf




X E KRR E

fliBh T X
155
HH IR B I 1% T 7 B = BANT S
SRR 15em,/ 1,/ =355 () [BfHE] B #EEE  1m X 1 & = 1. 00 m 12. 00
21 (4if) [A& &] ®Wrhm #EEE  1m X 1 T 1. 00
78— 1 HR (il [EufH&] #lrrm #EE 1m X 9 AT 9. 00
2292 %% (4H) [A& &] ®Wrhm #EEME  1m X 1 & = 1. 00
LRIy 15em,/ 7,/ FEH 2- 1 (A1) [ &) #WHm #EEE  1n 1 @ = 1. 00 m 3.00
2282 (4iH) (& =] #wsm HEEE  Im 1 T 1. 00
22924 (4iH) [ &) #WHm #EE  1n 1 & = 1. 00
R 58 45em,/ M/ FEHR 2- 1] (4) [A& &] BWrhm #EEE  1m 4 K = 4. 00 m 12. 00
22 f (4if) [ &) #WHm #EE  1n 4 K 4. 00
211-28%4% () [ &) #WHm #EE  1n 4 K = 4. 00
T RED - FEE [15em¥ BB 78-1 A () [A& &1 #fewrdim o5 140 = 19.8 m 19. 80




X B & % & F B &
BT X
1=
HH IR % 18 & I g B2V BANT E
P48 iF! 15em,/ A/ FE# 1- 187 (H) [BefHE] SlcAm JEEE I m 3 Epr = .00 m 8. 00
1-2F % () (A& &] ®WHFm  WEE 1w 1 &P .00
T (H) [BefHE] SlcAm JEEE I m 4 T = .00
FLHR 15em /3% FEHR 2272k (H) (A& ] #Wsm EEE I 1 &g = .00 m 1.00
(A1 45em /A FEHR 1-2%87 (H) (A& &] ®WHFm  EEE 1w 1A = .00 m 3.00
T AR (H) (A& &] #WcFm EEHE I 2 A = .00
R AE 45em /A FEHR TTREHR (BL) (A& &] #Hewrrm R 4m 2 AR = .00 m 8. 00




